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CHAPTER 7

Control and Coordination

1

Cytokinine are known to

(n) nhibit cytoplesiue mmovement

(b) help in retention of chlorophyll

(¢) mfluence water movement

(d) promote abscission layer fonmation
Ans : (b) help m retention of chlorophyll

Bram stew 1s formed by the unmon of:
(a) optic lobes

(b) cerebellum with optic lobes

(¢) corpora striata

(d) none of the above

Ans : (d) none of the above

The pincal body is conswdered as

(8) an endocrme gland

(b) an organ concermed with voluntary actions

(¢) an organ concemed with vision

(d) a vestige of third eve and endocrine gland
Ans : (d) & vestige of third eve and endocrine gland

Autonomic nervous svstem control

(n) reflex action (b) sense organs
(¢) mtermal organs (d) skeletnl muscle
Ans : (¢} internal organs

Which of the following acts bath as Endocrine
(ductless) and Excenme (with duct) glond?

{a) pancreas (b) liver

() adrenal (d) kidney

Ans 1 (n) pancrens
Which part of the hwman bram controls body

temperature”

(n) Pitmtary (b) Diencephalon

(c) Hypothalamus (d) None of these

Ans : (c) Hypothalamus

Hypothalamus controls and regulates temperature of
body, urge of eating, drinking. sleeping, ete.

Coordination via the nervous system tends to differ
from that produced by the endocrine system because
the norvons system:

(n) 1 quick, precwe and localized
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(b) 15 slower und more pervasive

() does not require conscions acetivity
(d) has Jong-lasting effects

Aus : (a) 15 quick, precise and localized

b Growth of pollen tube towards ovule during fertilisation
is an example of
(a) phototropism
(¢) chemotropism
Ans : (c) chemotropisin
Growth of pollen tube towards ovule during
fertilisation 18 an example of chemotropism

8. Which part of the hnman brain is most well-developed?
{a) Forebram (b) Hindbram
(¢) Diencephalon (d) None of these
Aus : (a) Forebrain

Forebrain or cerebrom s the most well-developed part
of the human bram.
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() geotropism
(d) hydrotropism

10. An action potential traveling alomg an axon:
(a) moves rapidly m both donections.

(b) moves fuster than a nenrotransmitter.
() 15 slowed by myelin.

(d) travels throngh the blood.

Ans : (b) moves [sster than a neurotransmitter

Which of the following comments applies to the brains

of most annnals?

(a) Within the brain neurons exchange information
with one snother

(b) Broing usnally lie os near se possible to the
mnportant sensory structures inoan animal

(¢) Brains send action potentials to the hindmost
portion of the animal by means of major nerves
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Chap 7 : Control and Coordmation

(d) All of the above
Ans : (d) All of the sbave

. Female sex hormone 15 termed as

(b) insulin
(d) None of these

(n) androgen
{¢) cestrogen
Ans 1t () oestrogen
Oestrogen is a female sex hormone.

The given disgram shows some of the features of
human skin.

e V
Infcmrmation fo tanin Informaton fom bees

which part of the brin comrdinates the infornation
labelled i the diagram?
(n) Medulla

(£) Cerebrum

Auns : (b) Hypothalamus

Hypothalamus 18 responsible for the regulation of
body temperature and csmotio pressare in blood. Tt
usex the negative feedback control mechanism. The
hypothalamns ncts like a thermostat by sending the
changes in body temnperature It sends out signsls o
different body parts with mechaniss to control and
adjnst the temperature

(b) Hypothalamms
(d) Corebellam

The disgram shows the central nervous system, wineh
has been blocked in three different places by o dmg
used ms an ansesthetic,

Grain
Sensory rerve Spinal cord
<
Yy
Mator narve

Three men had on anaesthetic block at X, ¥V or Z
One of the men can move his leg in response to o
pinprick. but does not feel it Where is the anaesthetic
block o thes man?

ta) At X (h) At ¥
() At Z (d) No block
Ans: {c) At Z

Response to a pin prick s s reflex action, but the pun
is felt by brain !ence the block at Z stops feeling in
the brain.

. Observe the figure given helow. In the figure, some

pusts are labelled as P Q R, S und T Given below
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16.

are functions associated with these parts.

Parts of brain Functions
P Master hormone pro-
ducers
Q Contiols body temper-
ature
R Controls unconscious
aotivites
5 Helps to control balance
T In consewus behaviour

which part of the brain & matched with imcorrect
function?

(a) P and S

(c) Rand T

Ans: (b) P,Qund T

Part £ (hypothalamus) contrals body temperature.
Part @ (pituitary) is the master hormone producer
Part 7 helpe m memory storage and conscious
behaviour

(b) PQond T
) PRand T

The diagram shows a reflex are m which a bee sting
causes the arm to be moved quickly.

If the relay neurone ® dwmaeged, how will the
tronstoission of nerve impulses in the reflex are be
affected?

(n) Trapulses camnot pass from P— @

(b) Impulses connot pass from P— R

(¢) hopulses cannot pass from Q— P

(d) Tmpulses cannot pass from R — @

Ans ¢ (b) Tmpnlses canmot. pass from P— 7

P is the sensory nemone, Q is relay neurone and R
is motor nearone. Il Qdamasged. then nerve inpulse
cannot pass from P to R.

Adrenaline honnone is secreted in the body during
emergency situations. What would be the effects of
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Chap 7 - Control and Coordmation

ereased concentration of adrenaline on body?

Concentration of Concentration of
glycongen in the | glucose in the blood
liver

() Decrease Increass

(b) Increase Increase

(c) No effect Decrease

(d) Increase No effect

Ans @ (a)

Advenaline 15 secreted by body during fight or flight
response It imcreases the blood glocose level This
happens by mcreasmg the tate of breakdown of
glycogen to ghicose in the liver and muscles

A child is frightened by o loud pose wnd shouts for

help In which order. the diffevent types of nenrons

mvolved will act?

(a) Motor nenrone
nenrone

(b) Motor nentone ——— Sensors neurone —— Relay
nenrone

(¢) Sensory nenrone —— Motor nenvone ——* Relay
neurone

(d) Sensory veurone — Relay newrone — Motor
nenrone

* Relay nearone —* Sensory

Ans : (d) Sensory pewrone — Relay pewrone —
Motor nenrone
The semsory neurone transmits impukes produced
by a stimnlus detected by the sensory organ to the
spinal cord The relay nenrone helps to transfer these
impulses ta the motor nenrone

The motor neurone transmits the anpulses in
reowives 1o an appropriste effector. This produces the
requited response to the stumulus.

Following are certain reflex actions ocenrring in our
body.
1 Maving to the side of road when a speeding car

approaches,

2 Closing of eyes in responso to o sudden bright
hight.

3. Shoutimg when we are suddenly distarbed o get
scared

4 Withdsawing hends on touching s hot surface,
The veflex arc given below will be accurving for,

4 Receptors (sense crgans) ———— Spinal cord
— T, Targets/effectors

(a) 1 and 2 (b) I, 2and 3

{c) 1,2,3and 4 (d) 2 and 4

Ans:(c) 1,2 dand 4

The reflex are oceurring is common to all these

vesponses. The stimulug ix received by sense organs

and sent through sensocy nenrons to spinal cord. The

information is processed and forwarded ma motor

neurone to effector organs.

20. In comparison with other cells, nerve cells show a
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26.

Iugher degree of: .
(n) Metabolism (b) Growth
(¢) Comtractility (d) Irritahility

Ans : (d) Irritability

The photoreceptor cells of the eve are located 1 the:

{n) Sclera (b) Ins
(¢) Retma (d) Optic nerve
Ans : (¢) Hetina

Which of the following receptors is incorrectly puired
with what is senses?

(a) Chemoreceptors-chemicals

(b) Photoreceptors-pain

(¢) Thermoreceptors-heat

(d) Nociceptors-pain

Ans : (b) Photorecoptors-pain

The roke of the axon is to

(n) mtegrate signaks from the dendntes

(b) relense newotransmmtter

() conduct the sction potential W the synaptic
terminal

(d) svnthesize cellular components

Ans 1 () conduet the action potentiol to the synaptic

terminal

The major hormones involved in the maintenance of
blood gliease levels are produced by the

(a) laver (b) Pancreas

(¢) Spleen (d) Gall bladder

Auns @ (b) Pancreas

Breathing rate in mammals is controlled by a part of
the brain called the:

(a) Thalsmus

(¢) Medulla oblongats

Ans : (0) Medulla oblongata

(b) Hypothalamus
(d) Cerebellinn

The natural plant hormones were first solated from:
(n) cotton fruits, spinach leaves, rice plant

(b) avena coleoptile, spinsch leaves, fungus Gibberella
(¢) corn germ oil, hnman urine

(d) human urine, rice plant.

Ans; (b) avens coleoptile; spimach leaves, fungus
Gihberella

A high concentration of synthetic auxins is generally
used for:

(a) weed control

(b) enhancing root initiation

(¢) comtrolling of cell enlargement

(d) preventing the growth of the lateral buds

Ans : (0) weed control

In reflex action, the reflex are is formed by
(a) bramn » spinal cord —— muscles

Page 59



10. Temporal lobe of cerebrum is region for
Download sll GUIDTE snd Sample Paper pdfs

Chap 7 . Control and Coordination

(b) receptor — spinal cord — muscles

(¢) muscles — receptor — bruin

(d) muscles — spinal cord — receptor

Ass ¢ (b) recoptor — spinal cord — muscles

Which controls the balance of human body?
(8) cerebrum (b) cerebellum

() optic lobes (d) spinal cord
Ans : (b) cerebellum

In our body, calcium and phosphorus jons  wre
comtralled by

(s) thyroid gland (b) patuitary gland
(¢) adrenal gland (d) parathyroid gland
Ans : (¢) adrenal gland

Hormone from thyroid gland 1=

(a) thyroxme {b) thyrodine

{c) parathyroxin {d) thyroprotein

Ans : (a) thyroxine

1 A feedbuck mechanism regmlates the sction of the

Ans : hormaones

. hormone = apphed to cuttings to induce root
initintion i horticulture
Aus : Auxin

........ movements are growth movements of plants m
response to o stimnlus from a specific direction.

Ans : Tropic
Receptors are structures which are able to detect
Arss + stieml
Nenvons that carry information 1o an effector are

Ans @ motor

A hormone is a chemical secreted by an .
Ans : endocring gland

The mitial depolanization of the nerve cell membrane
Ans : sodiam

The .. of the neuron secrates the neurotinnsmitier
substance

Ans : axon

Touch me not shows .. .. L movemnent.

Ans : nastic

n

18.

.

23,

25

e g e

reception
Ans : anditory

Motor nerves transmit response from organs 1o
 nervons system in the form of impulse.

Ans : sensory, central

Ry ) e show thermonastic movements
Ans : Tulips, crows

The funetiomal junction between two neurons is called
Ans : syunpee

The response of a plant 1o a stimnlus of water 1s called
An;: hydrotropism

Coordination in plants take place by means of chemical
substance culled

Aus : phvtohormone

Endovrine glads secrete their secretion m ... X
Ans @ blood

Reflex are formed in spinal cord slso sends mformution
npmtto. ........

Ans : brain

_ coordinates the setivity of picking np pencil
for wiiting.
Ans : cerobellum

Positive geotropism of root is due to greater growth
on . ... side a8 compared to . side
Ans : upper, lower

Human growth hormone regulates the many body
processes mvolved in g W

Auns ¢ growth, development

The hormone which contrals the development of male
socondary sexual character s colled

Ans @ estostetone

SOy mechlninnrqulntesﬂ)eacuonéfhonnonu
Ans : feed back 2

An axon termimal pusses the electrical stimulus Lo a
dendrite of next nenron throngh ... reaction.
Ans : chemical

Hormoues are corried by . to target organs where
they perform a speafic fanction.

Ang : blood stream

Sneezing o .. :
Auns : reflex action
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Chap 7 Control and Coordimation

26. The nervous systetn uses
Ans : electrical inpnlses

o transinit messages.

2. . . performs control and coordination in plants
Ans : Phytohormones

8. . promotes semescence and is found in high
concentration m ripened fruits.
Ans ¢ thylene

28, Apical dominance - Auxin; reversal of dwarfism
Ans : CA

30, If the dark period is mtemmupted by Mashes of light

oo plant will not fower.

Ans : Short day

. . hormone increases hearthbeat rate when we get
a fnight,
Ans : Adrenalin

32, Short day plants come w flower
photoperiod.
Ans : Below

a critical

33 . . is the ineversible increase in size, volume or
weight of an orgen or orgamsm.
Ans : Growth

g

1 The central nervons systemn consists of the brain and
spinal cord.
Ans : True

1. From a fonctional perspeciive, the nervous system
provides slow | long-tenin coordination
Ans ¢ False

3. All animals have complex nervons systems.
Ans : Falee

4 One-celled organisms con respond to stimuli
Ans : True

9. The hunan brain s the lugest of all animals
Ans : False

6. The man thinking part of bram s hind brain.
Aus : False

1. Functiomng of various organs in aniformity is called
coordination.

Ans : Troue

8. The path throngh which signals arve transmitted from
a receptor to a muscle or a gland 1s called 1eflex we.
Ans : True
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Thyroxine regulatres the blood-sugar
Ans : False

Motor neurons carry signale from receptons to spinal
vord

Ans : Fulse

Brain 15 the stuctural and fanetional umt of nervous
svstem

Ans : False

Centres of heaving, smell, memory, sight etc | are
located in fore braim.
Ans @ True

Feeling hunger is u rellex action,
Ans : Fulse

Brauns can work 24 howrs a dey with no rest,
Ans : False

Tmnediate response to stimmlus is shown os Mimesa
pudica
Ans : True

Sensory neurons cany signals from spinal cord 1o
musches,
Ans : False

Portions of your brain sre responsible for specific
fimections

Ans : Tre

The nervons system is closely associated with every
system in your body.
Ans : True

Involuntary sctions like salivation, vomiting, blood
pressuve are controlled by the medulla in the hind
brain

Ans : True

Cerebellnm does not control posture and balance of
the body.

Ans : Falso

A newron transmits electrical wopalses not only to
another neuron but also to muscle and gland cells.

Ans : True

The chemicals released from the axenal end of one
newron cross the svoopse snd generate a supilar
electrical impulse in a dendrite of another neuron.
Ans : True

Apical dominance 18 the function of Anxn.
Ans : True
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Chap 7 - Control and Coordination

24, Sugurcane 15 short day plent.
Ans : True

23. Photopeniodism was fivst studied by Cumer and
Allard.

Ans : True

26. Auxin b’ isclated from com germ ol
Ans : True

2]. Growth imhibitors are Ethylene and ABA.
Aus : True

28. Blune hght effective in pholotropism.
Ans : True

29. Mmmosa plant showing sesmonfastic movernent.
Ans : True

3. Bending of Tentacles in Diosera s Thigmonasty.
Ans : True

3. Only the vertebrates have o nervous system.
Ans : False

32. The propagstion of o nerve impulse is due to changes
in the permeability of the nerve cell membrane that
allows for o voltage difference across the membrone.

Ans ¢ True

33, Rise in sugar level in blood stops seeretion of insalin
by pancreas
Ans : Troe

34 Crowth hormone is secrated by adrenal gland
Ans : False

Fore-brain & centre of intelligence, control of
movements, hewring, smell and sight
Ans : True

36. Stems are positively geotropic whale 100ts e
negatively geotropic,
Ans : False

3). Sudden action in vesponse to something in the
environment 1 called reflex action.
Ans : True

38. Uytokinins are present in greater concentrabion in
voung fruits and seeds.
Ans : True

39, Junction between two nenrons is called synapse.
Ans : True

48, Spinal cord anginates from Cerebellum
Ans : False
Downlond al! GUIDE and Savaple Paper pdfs (=

4. MATCHING QUE

DIRECTION : Each question contains statements given in
two columns which have to be matched. Statements (A, B, C,
13} in column | have to be matched with statements (p, g, 1, 8}
i column [1.

1
Colun 1 Colun 17
(A) Parthenocarpy (p) | Photoperiodism
(B) | Apiend dommance | (q) | Development of
seed less fruit
() Extreme cold (r) Vernahization
treatment
(D) | Respomse to length | (s) Auxin
of the day
Ans: Aq, B-s, C, Dop
1
Cohum [ Column 11
(A) Auxin (p) GA,
(13) Gibberellin {a) TAA
() Cytokinin (1) ABA
(D) Darmin ) Zeatin
Ans: Aq, B-p, Cx D-r
3.
Column I Colwm IT
tA) Cerebrum () contiols the
pituitary
(B) Cerebellum (q) coutiuls vision
and hearing
(C) Hypothalamus {r) | conticls the mte
of heart beat
() Midbrain (5) |seat of mtelligence
t) mamtams body
posture
Ans : At By, Gop. Dg
LS
Colimm 1 Column 11
(A) | Hypothalaims (p) relaoan
(B) | Antenaor pitnitary | (q) estrogen
(C) Testis (1) FSH and LH
(D) Ovary (s) testosterone
(t) | gonadotropin re-
leasing hormnone

Ans : A-t, Bey, Cep, Deg
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Chap 7 Control and Coordination

5

DIRECTION : Match the word in Column A with its related

Column [
(Aniual)

Colum I1
(Respiratory Organ)

(A)

()

The body of the nerve
cell that contains the

organelles

(B) Dendrite

(c1)

Receives the stimuli
seut from another
nerve or the outside
environment.

(©)

()

The long, thin section
of the nerve cell
where the impulkse is
transmitied across

(D) | Mychin sheath

{s)

A fatty substance that
covers the axon of the

nerve cell and speeds.

Ans : A-p, B-q, Cr, D-s

wformation i Column B
6
Colmm 1 Colnnm 11
1 Demdrite (a) the impulse i«
comverted into a
chemical signal
for onward
iy
) Axon (h) | blood pressnre and
voupting
3 Nerve endings (¢) | where information
is acquired
4 Fore bram (d) walkimg in a
straight line
5 Cerebellum (e) through which
information travels
as an electrical
unpulse
i Medulls () hearing ond sight

Ans : 1-(c), 2-{a). 3-(e}, 4-(T), 5-{d), 6-(b)

DIRECTION : In the following questions, a statement of
assertion (A} is followed by a statement of reason (R). Mark

the correct choice as:

Dowrniload s

(4) Both assertion (A) and yeason (R) are trne and
reason (R) is the correct explanation of assertion

(A).

(b} Both assertion (A) and resson (K) are tme but
reason (R) 15 not the comect explanation of

assertion (A).

(¢) Assertion (A) is trne but reason (R) is false
(d) Assertion (A) is fulso but reason (R) is tme

THDE shd Samiple

™

prsop e

() Both Assertion and Renson ave false.

Assertion : Suppression of growth of anxiliary huds is
called apical domunance.

Reason : It is due to effect of downward moverent of
Auxin from apical region towaids the lower side.

Ans ¢ (n) Both assevtion (A) snd rveason (R) are tine
aned reason (K) is the correct explanation of assertion
tA).

Assertion : Phototropm s & dioectional growth
Movernent

Reason : It occurs in the direction of light

Auns : (a) Both sssextaion (A) and 1eason (R) are tiue
ond reason (IR) is the correct explanation of assertion
(A).

Phototvopism i the movement or bending of light
townrds light, Hence, it 15 known ss directional growth

wovernent.

Assertion : Plants lack the nervous system, but they
do coordinate

Reason : It is so because of hormones.

Ans ¢ (n) Both assertion (A) and veasom (R) nre troe
and reason (K) is the correct explanation of assertion
(A)

Plants lack the nervons system, but coordinate ma
the hormones.

Assertion : Reflex actions are automatic and repid
responses to stimuli

Reason : These actions are controlled by bram.

Aus : (¢) Assertion (A) 15 true but reason (R) is false.

BReflex actions are antomatic and rapid response to
stinmuli. These actions are controlled by spinal cord,
not by bram.

Assertion : Olfactory receptors detect taste,
Reason : Olfactary receptars ar present in cevebellum
Ans : (e) Both Assertion and Reason are false.

Gustatory receptons  detect  taste, while olfactory
receptors detect smell Both Assertion and Reason are
false.

Assertion : Cytokmins wre present
concentiation in fraits and seals
Reason : Cytokining are responsible for promoting cell
Ans : (b) Both assertiom (A) and reason (R) are
trme but reason (K) 18 not the correct explanation of
nssertion (A).

Cytokinins are the hormomes, which promote caell
division. Highest concentiations of cytokinins ccous
in fruit and seeds_ i e aress of vapid cell division.

in  highest

Assertion : Abscisic acid is respensible for wilting of

leaves.

Reason : It is o growth inhibitor.

Ans : (0) Both sssertion (A) and reason (R) are true

and reason (R) is the correct explanation of assertion

(A).

Abscisic acid i responsible for wilting of leaves
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becouse it w a growth inhibitor.

Assertion : Medulla oblongata causes reflex actions
like voriting, conghing and speezing.

Reasom : It has many nerve cells which comtrol
autonomic reflexcs,

Ans : (n) Both sssertion (A) and renson (R) are true
and reasan (R) i the corvect explanation of assertion
(A).

Assertion : Transimssion of the nerve nupulse soross s
synapse is accomplished by nenvotransmitters
Reason ¢ Transmission of the nerve nnpulse woross s
synapse is accomplished by netirotyansmitters

Ans : (n) Both assertion (A) and reason (R} are true
und reason (R) w the correct explanation of sssertion
{A)

Assertion : A person has lost most of its intelligence
memory and judgement.

Reasan : A person has operated a tummour located in
the cerebmm

Aus 3 (a) Both assertion (A) snd reason (R) sie tue
and reason (R) is the correct explanation of assertion
(A).

Assertion : Males have more statme than females
during puberty

Reasan : This 1s becanse of presence of thyvoxan i the
blood of fernnkses.

Ans ¢ (¢) Assertion (A) is true bot reason (R) is false

Males has more stature than females because of action
of male sex honnone called testosterone, which is
secreted by testis in males. Testosterone controls the
development of secondnry sexual characters m males.
Thyroxin increases the metabolic rate of the bady and
maintaans BMR.

. Assertion : Phototropism 15 cansed by auxin.

Reason : When light is coming from one side of the
plant, anxin diffuses townrdy the shady side of the
shoot,

Ans : (o) Both assertion (A) and resson (R) are true
and veason () is the correct explanation of assertion
(A).

Auxin promotes phototropisin. When light i coming
from one side of the plunt, auxin diffuses towards the
shady side of the shoot This concentration of auxin
stmulates the cells to grow Jonger on the side fo
the shoot which is away from light Thus, the plant
appears to bend towards light while growing

Assortion : Gibberellins induce internodal growth in
dwarf plant vanetics.

Reason : Gibberelling when applied to noymal plants,
it increases the length of the plant.

Aus ; (c) Assertion (A) is true but venson (R) 1= false.

Gibberellin induces internodal growth and overcomse
the phenotypic expression of dwarfism in certain
plants It has little or no effect when they ave applied
to the normal plant.
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Assertion : Senescence is delnved by the application of
cvtokinin in plants.

Reason : Cytokinin prevents the breakdown of
chlorophyll, protemns ad nucleie scid

Ans : (&) Both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of assertion

(A).

Assertion : lu short dey plant, day length should be
lees than eritical day length

Reason : Long might should be contimous.

Ans : (b) Both assertion (A) and resson (R) are
tme but reason (R) is not the conect explanation of
nssertion (A)

Assertion : Unlike cabbage, sunflower plant has long
internende with leaves that are far apart.

Reason : Sunflower produces suflicient smounts of
GibbereHlins during its prowing peviod

Ans : (a) Both assertion (A) and reasom (R) are true
nnd vesson (R) s the corvect explanation of assertion

(A)

Assertion : Antheorozoids of Funana show chemotropice
movernent.

Reason : This is o paratonie movement of locomotion
Ans : (a) Both assertion (A) and rveason (R) are true
md renson (R) s the carrect explanation of assertion
(A)

Assertion : Setsmonastic movement shown by Mimasa
pudica plunt.

Reason : It is due to change in turgidity of cells of
pulvinus,

Ans : (n) Both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of assertion
(A)

Assertion : Plant harmones arc growth regulator.
Reason : Growth regulators promote or inhibit the
growth.

Ans : (n) Both assertion (A) and reason (R) are true
und reason (R) 1 the correct explanation of assertion
(A)

Plant hormones are chemical compound  produced
naturally in plants which control the growth and other
physiclogical functions at o site far away from the
plice of secvetion and required in very small amount
It can have promoting or inhibating effect on o process
and hemee, it is a growth regulator

Assertion : Auxius sre in the grwoing tips of the plant
Reason @ Anxin concentration is highest at the tip of
the root.

Ans : (c) Assertion (A) is e but yeason (R) is false.
Aunxin, & plant hormone 18 synthesized at the grwoing
tips of the plant i e tip of cokoptiles. in buds and in
growing tips of leaves and roots The concentration of
auxin found at the tip of the root is significantly lower
than the concentration found at the top of coleoptiles

Assertion : A receptor s a specialized group of cells
! Y & Page 64
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in a sense organ that perceive a particular tvpe of
stimmulas.

Reason : Different sense ovgans have different receptons
for detecting stimuli.

Ans : (b) Both sssertion (A) and resson (R) are
e but reason (R) is not the correct explanation of
assertion (A)

Assertion : Abscisic weid 15 o stress hormone,

Reason : Stimulation of ABA ocenrs in adverse
conchtions.

Ans : (a) Both sssertion (A) and season (R) we tiue
and reason (R) is the correct explanation of assertion
(\)

Abewsic 5 o stress hormone as its production i
stimulated by drought, water logging and other
adverse (stressful) conditions

Asszertion : Units which roake up the nervouns system
are called newrons.

Reason : Nerve inpulses are camied by dendrites
towards the cell body.

Ans: (b) Both assertion (A) and resson (R) are
true hut reason (R) s not the convect explanation of
assertion (A).

Both the statements are true Nervous system is
the svstem of conducting tissues that receives the
stimulus and transmits it 1o other parts of the body
forming s network of nerves. It is involved in receiving
inforination {sensation) and genernting responses to
that mformation (motor response). The umits which
make up the nervous systern wie called uerve cells or
neurons. Nerve impulses ave always transmitted across
o synapse from the axon tenminals of one neuron to
the dendrite/cell body of the next nearon

Assertion : Uvton region of nerve fibre collects
mformation for the brun.

Reason : Nerve fibres can aither have or lack myelin
sheath

Ans : (d) Assertion (A) is false but veason (R) s troe.

. Assertion : Animale can react to stivonli in differemt

WOV,

Reason : All ammale have a nervous syvstem and an
endocrine systom involving hormones.

Ans @ (a) Both sssertion (A) and reason (R) are true
and reason (R) is the correct explanation of assertion
(A).

Assertion : The effect of anxin hormone on the growth
of root 18 exactly opposite to that on a stem.

Reason : Auxin hormone increases the rate of growth
in oot and decrenses the rate of growth m st

Ans : (¢) Assertion (A) is true but resson (R) is false

Assertion : Insulin regulates blood sugar level
Reason : Insufficlent secretion of insulin will caunse
diabetes,

Ans @ () Both assertion (A) and 1eason (R) we true
and reason (R) is the correct. explanation of assertion
tA)

8.

2.

0.

Assertion : Nerve impulse 15 9 one way conduction.
Reason : Nerve impulse is transmitted from dendnite
Lo sxon terminals

Ans : (¢) Assortion (A) is true but reason (R) 15 false.

Nerve impulse ure slways transmitted across a synapse
fram the axon terminals of one nenron to the dendrite/
cell body of the next neuron but never in the reverse
direction. Since, the neurotransmitter  present only
in the axan terminals and not in the dendrite or cell
body. it cannot be released from the dendnte or cell
body even if the impulse reaches there

Assertion : Onr body maintams blood sugar level.
Reason : Pancreas secretes insulin which helps to
regualte blood sugar levels in the body

Ans : (a) Both assertion (A) and reason (R) mre tine
and reason (R) is the carrect explanation of assertion
(A)

Panerens secretes insulin which helps to regulate blood
sugar levels in the body. I the sugar lovel in blood
rises, they are detected by the cells of the pancreass
which respond by producing more msuling As the
blood sngar level falls, msulin secretion is reduced.

Assertion : Failure of secretion of growth hommone
fromy an ensly age canses dwafrism in the patient
Reason : Growth honnone stimulates the body growth
snd elongation of long bones,

Ans : (a) Both assertion (A) and veason (R) wie true
and reason (R) 15 the correct explanation of assertion
(A)

Crowth hormone is secreted by the anterior labe
of pitnitary gland It stiomulates body growth. The
failure of secretion of growth hormone from an early
nge cnuses dwafrism while excesave secretion of this
hormone from childhood leads ta gigantism
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